IS o

448F

§m448

N S LN P L] P VA P VA P VA B A B B

&
&

R

Al bmi pas 'V‘ gl ot ol Sloe gl ool LIl JFin
WA b)Y [ NA (o)) (Fos plel

ol oSl (2 0
S35 ik cpale oyl

455 Gjgal Gt plajl

Y44 JLu_ J.'i-‘.b MHU .J...fbﬂ‘:wm‘a.w Lgl.hb;gd ©9939 UE‘DJT

[ (Y0+7) 05 = | Sl junlo | bl s ]
AB S YA e aul wus V¥t 1 olony

WMo 5 ylos g Sload o dlemiol Slge lgie

et G | Byteed s | (gew slisad sliial olge ki
. 3 ¥, (g Bil) | cucndi g ctgoe b3 A
\' ™ ¥ 558l adaos] Y
3 ¥ T R LT e
Y. Yol Y- L g ¥
YF- m ¥ s g Jelw gialan | B
oyle o Byed fygesl ol e jle ol ile 51 saldsiwl

g 18y gl ol 3l S o o145 R 3 i S ool o g T S35 30 (o 050 g3 005 LS Sl g

N L LA A P LR A R A I L5 A P B A P PR LA o




Y axio 448F QAP 35) Kbl ol !

]| ;_jj-“)T &M.J.a- 3 Loods 148 sl aJJ.ﬁndJ .J.ld Js..l_‘.r i_ll.‘:-)m 39 Lal 3 lhasxin T pas s'.;h])-f u_a.lbslé -]

1y 895 Juduo 8 kouds ydge sl bolS BT L e PURL T 2 S PR — sl
T JpsS A5 g foi (oW lgew Az 80 g dolizeuwl oYl dude & 3559 & yl5 YL o gyaie dbgls 5yl L
el s U 1) pleligouly (ply 3 W15 i 580 (59, p 0t

HglBH) a5 (090t 50

PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes cach sentence.
Then mark the answer on your auswer sheet.

1- It had not rained on the prairie for several months. Because of the drought, the climate
had become very ---------- =
1) unsteady 2) rigid 3) intense 4) arid

2-  Deserted for six months, the property began to look more like a jungle and less like a
residence—weed grew ---------- in the front vard.
1) unchecked 2) unjustified 3) complicated 4) scanty

3- Can you please --——-—---—- this last part of the lesson for me; I’m not sure I understood.
1) recapitulate 2) identity 3) postulate 4) recount

4-  Gerry’s dissatisfaction with our work was --—--——-- in his expression, although he never
criticized us dircetly,
1) vulncrable 2) bright 3) implicit 4) humble

5 The world’s coal, oil and gas -----—---- arc finite; once day they will run out, so think now
about what you can do to consume less,
1) appliances 2) deposils 3) rclics 4) amcnitics

6-  You arc recommended o use mnemonies to help you ----om-oo- important items of
information.
1) cnumcraie 2) cxpose 3) recall 4) withdraw

7-  The lifcspan of a mayfly is ---------- » lasting from a few hours to a couple of days.
1) imprecise 2) ephemeral 3) superlicial 4) swill

8-  His words to the press were deliberately -----------—-; he didn’t deny the reports but
n¢ither did he confirm them,
1) mutual 2) cssential 3) dogmalic 4) cquivocal

%-  Hundreds of people had come to see a popular satire, but during the performance a fire
started in the theater, and the audience and actors had to -———---- the building
immediately.
1) expel 2) cvacuale 3) disperse 4) detach

13- Computers have helped solve some of the mathematical --—-----—- which have puzzled

man for many centuries.
1) conundrums 2) caprices 3) artilacts 4) chronologics
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4} best fits each
space. Then mark the answer an your answer sheet.

When Newton arrived at Cambridge. the Scientific Revolution of the 17th century was
alrcady in [ull force. The heliocentric view of the universe—theorized by astronomers
Nicolaus Copernicus and Johannes Kepler, (11) ---------- refined by Galileo  was well
known in most European academic circles.

’hilosopher René Descartes had begun to formulate a new concept of nature

{(12) -=mmmmm-- an intricate, impersonal and inert machine. (13} ---------- . like most
universities in Europe, Cambridge was steeped (14) ---------- Aristotelian philosophy
and a view of nature resting on a geocentric view of the universe, {15) ---------- with

nature in qualitative rather than quantitative terms.

11- 1) and was later 2) and later 3) later was 4) which was later
12- 1) like 2) such as 3)as 4) the samc

13- 1) Although 2) As though 3) Because 4y Yel

14- 1)in 2) lor 3) with 4)of

15- 1) dealt 2) dealing 3) by dealing 4) and was dealt

PART C: Reading Comprehension
Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3}, or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Antioxidants arc required Lo protect the animal’s cells [rom damage duc lo the
presence of free radicals. These are highly reactive molecules containing onc or more
unpaired clectrons and can exist independently such as superoxide and hydroxyl. Their
high reactivity is a result of their trying to lose or gain an electron to achieve stability.
Within cells hydrogen peroxide can easily break down, especially in the presence of
transition ions such as [Fe2!, to produce the hydroxyl radical. which is the most
reactive and damaging of the free radicals: H202 + Fe2— — OH* + OH- + Fe3+. Free
radicals are generated during normal cellular metabolism owing to leakage from the
electron transport chain in mitochondria and leakage from peroxidation of
polyvunsaturated fatty acids in the pathway of conversion of arachidonic acid to
prostaglandins and related compounds. Also superoxide plays an essential role in the
extracellular killing of microorganisms by activated phagoeytes, and activation of this
system can lead to further leakage. All classes of biological molecules are vulnerable
to [ree radical damage, bul especially lipids, proteins and DNA.

The surrounding wall ol the cells 1s an important target, because of the enzyme
systems contained within them, To maintain cell integrity, the animal’s cells require
protection mechanisms and these are provided by the antioxidant sysiem, which
involves a group of vitamins and enzymes containing trace elements working in series.
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The initial line ol defense is by the enzymes superoxide dismutase (containing
copper), glulathione peroxidases (containing sclenium), and catalase.

16- Induction of hydroxyl radical, mediated by transition ions, is caused by --—--—--—---,
1) hydroperoxides 2) superoxide
3) reactive molecules 4) hydrogen peroxide

17- Which of the following is NOT route the productivn of free radicals during nermal
cellular metabolism?
1} Transportation of electrons in mitochondria
2) Conversion of arachidonic acid
33 Peroxidation of saturated fatty acids
4y Peroxidation of polyunsaturated fatty acids
18-  As stated in the text, which element proceeds through activation of phagocytes?

1) Superoxide 2) Peroxide
3) Hvdroxyl 4) Pcroxyl
19-  Which of the following organclles are susceptible to free radical damage?
1) Golgi apparatus 2) Mitochondria
3) Cell membrancs 4) Endoplasmic reticulum
2i-  Which enzyme is not considered as the first route for cell defensive mechanism?
1) Superoxide dismutase 2) lydroperoxides
3) Catalase 4) Glutathione peroxidase
PASSAGE 2:

The antigen reeeptors of B and T lymphocyvics have several [catures that arc important
for the [unctions ol these reecptors in adaptive immunily. They can recognize
chemically dilferent structurces, B lymphoceyle antigen receptors or membranc-bound
antibodics and the antibodics that B cells scercie arc able o recognize the shapes, or
conformations. of native macromolecules, including proteins, lipids, carbohydrates and
nucleic acids, This broad specificity of B cells for structurally different types of
molecules enables antibodies to recognize diverse microbes and toxins in their native
form. In striking contrast, most I’ cells see merely peptides. and especially when these
peptides are displayed on antigen presenting cells bound to membrane proteins
encoded in the major histocompatibility complex (MH3} genetic locus.

Antigen receptor molecules consist of regions, or domains, that are involved in
antigen recognition and, therefore, vary between clones of lymphocytes, and other
regions that are required for structural integrity and for effect or functions are
relatively conserved among all clones. The antigen-recognizing portions ot the
reeeplors arce called the variable (V) regions, and the conscrved porlions arc the
constant (C) regions. Even within the V regions, much ol the scquence variability 1s
concentrated within short stretehes, which are called hyper variable rcgions, or
complementarity-determining regions because they [orm the parts of the receptor that
bind antigens.
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21- Rececognition of native macromolecules can he done by all of the following items

EXCEPT cescsivis i
1) antigen receptors of B lymphoeyie 2) membrane-bound antibodics
3) T lymphocytes antigen reeeplors 4) the antibodics scereted by B cells

22-  Which of the following features in NOT among the duties of T lymphocytes?
1) Detection of cell-associated microbes
2) Recognizing and detecting peptides
3) Detecting antigen presenting cells
4) Recognizing pure proteins
Which item does NOT belong to the category of constant regions?
1) The sites dedicated tor recognition of antigens
2) The domains constituting structural feature
3) The regions involved in functional activities
4) The domains known as the conserved siles
24-  All these statements are compatible with the feature of the binding sites for antigens
FEXCEPT -oemmemeev .
1) they are assumed as helper determining regions
2) they are specifically dedicated 1o the constant regions
3) they are actually hyper variable regions
4) these sites are part of the variable regions
25-  Which of the following titles best suits the content of this passage?

I~
T
1

1) Properties of Antigens 2) Antigen Receptors of L.ymphocytes
3) Clones of L.ymphocytes 4) Native Macromolecules
PASSAGE 3:

‘The immune system of fish 1s physiologically similar to that of higher vertebrates.
despite certain differences. In contrast to higher vertebrates. fish are free-living
organisms from early embryvonic stages of life and depend on their innate immune
system for survival. Nonspecific inmunity is a fundamental defense mechanism in
{ish. In addition, it plays a key role in the acquired immune response and homeostasis
through a systcm ol reeeplor proteins. These proteins identily molecular patierns thal
ar¢  lypical ol  pathogenic microorganisms,  including  polysaccharides,
lipopolysaccharide, viral RNA and other moleeules that arc not normally on the
surface ol multicellular organisms, This response is divided into physical barriers and
cellular and humoral immune response. Various internal and external factors can
influcnce  innate  immune  response  paramelers.  Temperature  changes,  stress
management and density may have suppressive etfects on this type of response, while
several food additives and immune stimulants can enhance their efficiency.

26- What does the word ‘innate’, in innate immune system, mean?

1) Maternally transported 2) Immediate immunity
3) Defensive 4) Secondary

27- In the phrase “In addition, it plays a key role...”, the word *it’ refers to --——---——-- .
1) homeostasis 2) acquired immune response

3) innate immune system 4y nonspecific immunity
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28- Receptor proteins are able to identity all of the following chemicals EXCEPT = :

1) lipopolysaccharide 2) Polysaccharides
3) monosaccharides 4y viral RNA
29-  Which item is not considered as a subdivision of the acquired immune response?
1) Physical barriers 2) llumoral immune response
3) Multicellular organisms 4) Cellular immune response
30- Which parameter has a positive effect on innate immune response?
1) Immune stimulants 2) Density
3) Changes in temperature 4) Stress management
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